

ON DOOR CONCEPTS LIMITED

(Formerly Known as On Door Concepts Private Limited)

CIN: L52100MP2014PLC033570 Email id - info@ondoor.com Contact No. 0755-4509561

Registered Office Address – 1st and 2nd Floor, Plot No. 13 Railway Colony, E-8 Arera Colony, Bhopal,

Madhya Pradesh- 462039

To,
The Listing Department,
National Stock Exchange of India Limited,
Exchange Plaza, C-1, Block G,
Bandra Kurla Complex, Bandra (E),
Mumbai – 400 051.

Subject: Submission of disclosures under Regulation 7(2)(b) of SEBI (Prohibition of Insider Trading) Regulations, 2015

Dear Sir/Madam,

Pursuant to the provisions of Regulation 7(2)(b) of the SEBI (Prohibition of Insider Trading) Regulations, 2015, we wish to inform you that the Company has received disclosures from its Promoter, Swati Bapna, in respect of purchase of equity shares of the Company.

The details of the transaction are as follows:

Sr.No.	Name	Disclosures dated/ Regulations	No. of shares sold and % of total issued and paid up capital	Remarks
01.	Swati Bapna	Disclosures dated 27.11.2025 /Regulation 7(2)(b)of the SEBI (PIT) Regulations, 2011		Equity shares purchased in open market on 19.11.2025.

Please note that the above disclosure has been received by the Company on 27.11.2025 and the Company is forwarding the same to the Exchange immediately upon receipt in compliance with the said regulations.

We request you to kindly take the enclosed disclosures on record.

Thanking you,

FOR AND ON BEHALF OF BOARD OF DIRECTORS OF ON DOOR CONCEPTS LIMITED



ON DOOR CONCEPTS LIMITED

(Formerly Known as On Door Concepts Private Limited)

CIN: L52100MP2014PLC033570 Email id - info@ondoor.com Contact No. 0755-4509561

Registered Office Address – 1st and 2nd Floor, Plot No. 13 Railway Colony, E-8 Arera Colony, Bhopal,

Madhya Pradesh- 462039

NARENDRA SINGH BAPNA CHAIRMAN & MANAGING DIRECTOR

DIN: 03201953

Date: 28.11.2025

Enclosures:

1. Intimation and Form under Regulation 7(2)(a) of SEBI (Prohibition of Insider Trading) Regulations, 2015.

INTIMATION LETTER

Date: 27.11.2025

To,

The Compliance Officer, On Door Concepts Limited

CIN: L52100MP2014PLC033570

1st and 2nd Floor, Plot No. 13 Railway Colony, E-8 Arera Colony, Bhopal, Madhya Pradesh- 462039

Subject: Intimation regarding purchase of equity shares under Regulation 7(2)(a) of SEBI (Prohibition of Insider Trading) Regulations, 2015

Dear Madam,

I, Swati Bapna, Promoter of On Door Concepts Limited, wish to inform you that I have purchased equity shares of the Company as per the details below:

Date of Transaction	19.11.2025 Purchase	
Type of Transaction		
No. of Shares Purchased	27300	
No. of shares hold in the Company (Before Purchase)	220547	
No. of shares hold in the Company (After Purchase)	247847	
% of Paid- up Share Capital (Before Purchase)	3.9044%	
% of Paid- up Share Capital (After Purchase)	4.3877%	
Mode of Sale	On Market	
Exchange	NSE	

I hereby confirm that:

- The above transaction was carried out through the stock exchange.
- There was no misuse of unpublished price sensitive information (UPS!).

I request you to kindly take this intimation on record and forward the disclosure to the Stock Exchange(s) under the applicable SEBI Regulations.

Please find enclosed the following:

Form under Regulation 7(2)(a) of SEBI (PIT) Regulations, 2015

Thanking you,

SWATI BAPNA PROMOTER

PAN: AZMPB3944P

FORM B

Form for Reporting of Trades Executed In Excess of the Prescribed Threshold

The Compliance Officer,

Date: 27.11.2025

On Door Concepts Limited

ISIN of the Company: INE00ER01015

Sub – Form for Reporting of Trades Executed In Excess of the Prescribed Threshold

l, the undersigned, hereby state that I have purchased shares of the Company on 19.11.2025 in excess of the value of Rs. 10,00,000 during the quarter from $1^{\rm st}$ October, 2025, details of which are given below:

I. Details of trades executed in excess of the prescribed threshold by me:

Name of Seller	No. of Shares Purchased	Date of Trade	Sale Price (Rs.)	Sale Value (Rs.)	DP ID & Client ID	DP Name
SWATI						
BAPNA	1,500.00		140.48	210717.7		
	300	19.11.2025	138.47	41,541.66	1166796	Axis Securities
	300		138.57	41,571.75		
	900		140.48	126430.63		
	1,200.00		140.48	168574.16		
	1,500.00		140.43	210642.46		
	900		140.43	126385.48		
	900		140.48	126430.63		
	1,800.00		140.48	252861.21		
	600		140.48	84,287.07		
	300		138.42	41,526.59	8	

2,400.00	139.38	334500.01
900	140.48	126430.63
1,500.00	140.48	210717.7
900	140.48	126430.63
2,400.00	140.43	337027.94
300	140.48	42,143.53
300	140.38	42,113.44
300	138.27	41,481.46
900	140.48	126430.63
900	140.48	126430.63
300	140.48	42,143.53
1,800.00	140.48	252861.21
1,800.00	140.48	252861.21
1,500.00	140.48	210717.7
900	140.48	126430.63
		201010-00000-00-01-01-01-01-01

27300

TOTAL

II. Details of trades executed in excess of the prescribed threshold by immediate relatives/dependent(s): NA

3829690.22

Sale/Purc of Date of Sale/ DP ID & DP Name Name of Relationshi No. p with the Shares Client ID Trade Purchase hase Seller/ Sold Price (Rs.) Value Purchaser employee /Purchased (Rs.)

Note: Minimum threshold limit is trading of Rs.10,00,000/- per calendar quarter.

Kindly take the same on record.

Thanking you,

SWATI BAPNA PROMOTER

PAN: AZMPB3944P